
Activité:	effectuer	les	calculs	suivants	à	la	calculatrice	

Opération	 25 000× 400 000 	 26 000×3 000 000 	 120 000×130 000 	 580 030×900 000 	

Résultat	affiché	 	 	 	 	

Résultat	sous	
forme	d'un	entier	 	 	 	 	

	
Avons-nous	tous	les	mêmes	résultats	affichés	par	les	différentes	calculatrices	?	………………………….	

Quel	est	le	point	commun	entre	tous	les	résultats	ci-dessus	affichés	à	la	calculatrice	?		

...............................................................................................................................................................................................................	

...............................................................................................................................................................................................................	

Cette	écriture	est	appelée	...................................................................................	

	

Opération	 0,000002×0,000005 	 0,00086×0,000003 	 0,000003×0,00000029 	 0,0000089×0,0000052 	

Résultat	
affiché	 	 	 	 	

Nombre	
décimal	 	 	 	 	

Observons-nous	la	même	chose	que	précédemment	?	

...............................................................................................................................................................................................................	
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